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Quant 
 

Direction: In the following questions 

three equations are given in variables 
x. Third equation is equal to the sum of 
the first two equations. You have to 

solve the questions based on given 
information. 

I. ax2 + bx + 4 = 0 

II. ax2 + 3x + c = 0 

III. 2x2 + 7x +  = 0 

1. What is the value of (b + c)? 

A. 2 

B. 5 

C. 6 

D. 9 

E. 11 

 

2.What is the product of the roots of 

equation III. 

A. 1 

B. 3 

C. 8 

D. 4 

E. 6 

 

3.What is the square root of the larger 

root of equation II? 

A. 1 

B.  

C.  

D.  

E. 2 

 

Direction: In the following question 
two equations are given in variables x 

and y. You have to solve these 
equations and determine the relation 
between x and y.  

4.  

I. x2 + 7x + 12 = 0   

  

II. y2 + 8y + 15 = 0 

A. y > x  B. x > y 

C. x ≤ y  D. x ≥ y 

E. x = y or no relation can be 

established 

 

Direction: Study the following 
information carefully and answer the 
given questions. 

The pie chart given below shows the 
percentage distribution of the number 

of bookshelves manufactured by five 
companies: A, B, C, D, and E in 2021. 

 

The following additional information is 

given for the pie chart: 

I. The central angle for company E is 

36° less than the central angle for 
company B. 

II. D manufactured 380 bookshelves. 

III. Total number of bookshelves 
manufactured = total number of 

bookshelves sold + total number of 
bookshelves unsold 

The table given below shows the 
percentage distribution of unsold 
bookshelves of these five companies 

out of the total number of unsold 
bookshelves of all five companies in 

2021. 
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The total number of unsold 
bookshelves is 720. 

 

5. What is the value of ? 

A. 44 

B. 37 

C. 31 

D. 28 

E. None of these 

 

6.What is the difference between the 
number of bookshelves manufactured 

by company B and the number of 
bookshelves sold by C? 

A. 287 

B. 342 

C. 317 

D. 256 

E. None of these 

 

7.In 2020, the number of bookshelves 
manufactured by A was 24 more than 

the number of bookshelves 
manufactured by the same company in 

2021, and the number of bookshelves 
sold by D was 12 more than the 
number of bookshelves sold by D in 

2021. What was the ratio of the 
number of bookshelves manufactured 

by A to the number of bookshelves sold 
by D in 2020? 

A. 6 : 7 

B. 8 : 7 

C. 5 : 4 

D. 10 : 9 

E. None of these 

8.The number of bookshelves sold by 
company B is what percent of the 

number of bookshelves manufactured 
by company E? 

A. 96%  B.  

C. 75.2%  D. 145% 

E.  

 

Direction: Study the following 
information carefully and answer the 
given questions. 

The pie chart given below shows the 
percentage distribution of the number 

of bookshelves manufactured by five 
companies: A, B, C, D, and E in 2021. 

 

The following additional information is 
given for the pie chart: 

I. The central angle for company E is 

36° less than the central angle for 
company B. 

II. D manufactured 380 bookshelves. 

III. Total number of bookshelves 
manufactured = total number of 

bookshelves sold + total number of 
bookshelves unsold 

The table given below shows the 
percentage distribution of unsold 
bookshelves of these five companies 

out of the total number of unsold 
bookshelves of all five companies in 

2021. 

The total number of unsold 
bookshelves is 720. 
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9. What is the average number of 

bookshelves manufactured by all five 
companies? 

A. 375 

B. 360 

C. 320 

D. 420 

E. 295 

 

10.Lateral surface area of a cube is 420 
cm2 less than the lateral surface area 

of a cylinder. Height of cylinder is 2R 
cm and radius is R cm. If the side of 

cube is equal to the radius of cylinder, 
find the approximate area of a circle 
whose radius is (R + 3) cm. 

A. 314 cm2 

B. 290 cm2 

C. 340 cm2 

D. 388 cm2 

E. 225 cm2 

 

11.The marked price of an article is 

35% more than its cost price. The 
article is sold at a price of 1680 and the 

profit percentage is 20%. What is the 
discount given on article? 

A.   B.  

C.   D. 12.5% 

E. 6.25% 

 

12.Harsh and Manoj started a business 

together in partnership. The amount 
invested by Manoj is Rs. 3000 less than 

the amount invested by Harsh, who left 

the business after 7 months. If the 
profit of Manoj is 480P out of total profit 

of Rs. 7200 and 4P2 = 352 – , 

what was the amount invested by 

Harsh in business? 

A. Rs. 24000 

B. Rs. 35000 

C. Rs. 21000 

D. Rs. 28000 

E. Rs. 18000 

 

13.Akash bought two articles, P and Q, 
at the same cost price of Rs. X. He 
marked up both articles by 45% above 

the cost price. If he sold article P at a 
discount of Rs. 288 and article Q at a 

discount of 20%, then which of the 
following statements is true? 

1) Profit on P = Profit on Q 

2) Discount on Q is less than P 

3) Profit on P is more than that on Q 

A. Only 1 

B. Only 2 

C. Only 3 

D. Both 2 and 3 

E. Data is inadequate 

 

14.A man invested Rs. 15000 for 2 

years in scheme A, which offers 
compound interest of 10% per annum. 
What will be the interest earned by 

investing the interest received from 
scheme A again in the same scheme for 

2 years? 

A. Rs. 740.25 B. Rs. 487.75 

C. Rs. 584.75 D. Rs. 661.50 

E. Rs. 825.50 

Direction: There are two missing 

number series given below. Answer the 
given question based on these two 
series. 
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Series-I: 25, 27, 21, 33, 13, M 

Series-II: 400, N, 300, 750, 2625, 

11812.5 

15. What is the value of {(M – 6) + 

2N}? 

A. 437  B. 484 

C. 389  D. 293 

E. 518 

 

16.If X is a composite number such 
that 14 < X < 18, then what could be 
the possible value of (M + X)? 

1) 58 

2) 46 

3) 59 

A. only 1  B. only 2 

C. Both 1 and 2 D. only 3 

E. Both 1 and 3 

 

17.Find the wrong number (A) in the 
given below series and answer the 

question that follows. 

9, 10, 22, 69, 280, 1440, 8436 

Find the LCM of 45 and (A – 240). If A 

< 240, then consider the absolute 
value of (A – 240). 

A. 9810  B. 3600 

C. 855  D. 2070 

E. None of these 

 

18.In the following series only one 

number is wrong. 

241, 266, 497, 531, 1043, 1124 

If X is the correct number in the series 

in place of the wrong number, then 
which of the following statements is 

true? 

1) (X + 5) is divisible by 13 

2) (X + 7) is a prime number 

A. Only 1   

B. Only 2 

C. Both 1 and 2  

D. Neither 1 nor 2 

E. Cannot be determined 

 

Direction: In the question, Quantity I 
and Quantity II are given. You have to 

solve both the Quantities to establish 
the correct relation between Quantity-I 

and Quantity-II and choose the correct 
option.  

19. Quantity I: Value of m, if 

=  

Quantity II: 2 

A. Quantity-I > Quantity-II 

B. Quantity-I < Quantity-II 

C. Quantity-I ≤ Quantity-II 

D. Quantity-I ≥ Quantity-II 

E. Quantity-I = Quantity-II or No 

relation 

 

20.x and y are positive integers, and x 

is greater than y. 

Quantity I: 2 – x –  

Quantity II:  – 3xy +  

A. Quantity-I > Quantity-II 

B. Quantity-I < Quantity-II 

C. Quantity-I ≤ Quantity-II 

D. Quantity-I ≥ Quantity-II 

E. Quantity-I = Quantity-II or No 

relation 
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21.There are two containers that have 
a mixture of milk and water. Container 

A has 51 litres of milk and 7 litres of 
water. Container B has an 84 litre 

mixture of milk and water in a ratio of 
9 : 5. Mixtures from containers A and B 
are emptied into container C, which 

already has 8 litres of water in it. What 
will be the final percentage of water in 

container C? 

A.  

B. 20% 

C. 24% 

D. 30% 

E.  

 

22.On a rainy day, Jatin travels from 
his hometown to his office at a speed 

of s km/h when it is raining and at a 
speed of (2s – 4) km/h when it is not 
raining. His average speed for the 

entire journey is 36 km/h, and the ratio 
of time spent travelling during the rain 

to time spent travelling without rain is 
10 : 3 . What was the speed of Jatin 
while it was not raining? 

A. 56 km/h  B. 63 km/h 

C. 45 km/h  D. 52 km/h 

E. None of these 

 

23.Train P travelling at 69 km/hr can 
cross a platform 220 meters long in 24 
seconds. How much time would train P 

take to completely cross the train Q, 
190 m long and travelling at 60 km/hr 

in opposite direction in which train P is 
travelling? 

A. 10 seconds B. 9 seconds 

C. 12 seconds D. 14 seconds 

E. 8 seconds 

 

24.The distance between two points P 
and Q be 30 km. If a boat rows 

downstream from point P to Q and 
return upstream the Q to point P, it a 

takes total time 4 hours 30 minute, if 
the speed of stream is 5 km/hr. then 
what is speed of boat in still water? 

A. 12 km/hr 

B. 25 km/hr 

C. 16 km/hr 

D. 18 km/hr 

E. 15 km/hr 

 

25.A sum is invested at simple interest 

for 4 years at the rate of (R + 1.5)% 
per annum and the simple interest is 
Rs. 8960. If the same sum is invested 

at compound interest for 2 years at the 
rate of 12.5% p.a., the interest will be 

Rs. 4250. Find the value of R. 

A. 14   B. 12.5 

C. 10   D. 7.5 

E. 20 

 

Direction: Study the given information 
carefully and answer the given 

question. 

The table given below shows 
information about the number of pens 

sold by five shops: A, B, C, D, and E. It 
also shows the total selling price of all 

the pens sold by each shop. The selling 
price of each red pen is Rs. 25 and the 
selling price of each blue pen is Rs. 20. 

Some data is intentionally missing in 
the table. 
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26. If the ratio of the number of blue 
pens sold by shop D to the number of 

red pens sold by shop C is 7 : 5, then 
find the total number of pens sold by 

shop D . 

A. 30 

B. 21 

C. 18 

D. 24 

E. 15 

 

27.The total selling price of all the pens 

sold by shop B is 25% less than the 
total selling price of pens sold by shop 

A. The number of blue pens sold by 

shop A is % more than the number 

of blue pens sold by shop B. What is the 

number of red pens sold by shop B? 

A. 6 

B. 8 

C. 10 

D. 7 

E. 12 

 

Direction: Study the given information 

carefully and answer the given 
question. 

The table given below shows 
information about the number of pens 
sold by five shops: A, B, C, D, and E. It 

also shows the total selling price of all 
the pens sold by each shop. The selling 

price of each red pen is Rs. 25 and the 
selling price of each blue pen is Rs. 20. 
Some data is intentionally missing in 

the table. 

 

 

28. What is the ratio of the number of 
red pens sold by shop A to the number 
of blue pens sold by shop C? 

A. 5 : 4 

B. 4 : 9 

C. 6 : 11 

D. 3 : 5 

E. None of these 

 

29.If shop A sold each red pen at a 

profit of 25% and each blue pen at a 

profit of %, what is the total cost 

price of all the pens sold by shop A? 

A. Rs. 340 

B. Rs. 315 

C. Rs. 350 

D. Rs. 290 

E. Rs. 365 

 

30.If the ratio of the number of red 
pens sold by shop E to that sold by 

shop A is 3 : 2, then the selling price of 
all the pens sold by shop A is 

approximately what percent of the 
selling price of all the pens sold by shop 
E? 

A. 76% 

B. 72% 

C. 45% 

D. 54% 

E. 63% 
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English 
Direction: Read the given passage 
carefully and answer the questions that 

follow. Certain words are printed in 
bold to help you locate them while 
answering some of the these. 

After decades lurking in the shadows, 
inflation is back. On Amazon, you can 

find fridge magnets printed with words 
spoken 40 years ago by Ronald 
Reagan, before the election that swept 

him into the White House. 

“Inflation is as violent as a mugger, as 

frightening as an armed robber and as 
deadly as a hit man.” 

Price spirals remain a real fear for 

many Americans, particularly those 
who lived through the double-digit 

inflation suffered under Reagan’s 
predecessor Jimmy Carter. 

What was a painful but distant memory 

is now a new reality. And it is global. 
The Bureau of Labor Statistics 

announced on Thursday that the 
consumer price index rose year on year 

by 7.5% in January, a level not seen 
since the 1980s. Britain is not far 
behind, with prices rising by 5.4% at 

the end of last year. In the eurozone – 
the 19 countries using the euro – it hit 

5.1% in January, the highest level 
since records began in 1997 

Price rises have hit everyone but 

inflation hits poorer Americans hardest. 
The lowest-earning fifth of Americans 

already spend 83% of their income on 
housing, according to the labor 
department’s Consumer Expenditure 

Survey, and can ill-afford increases in 
rents, let alone fuel, food, and other 

essentials. 

The Federal Reserve is now preparing 
to raise interest rates in the hope of 

taming soaring prices. 

Italians have been feeling the knock-on 
effects of inflation mostly in their 

utilities bills, with gas and electricity 
costs rising by more than 50% this 

winter. In turn, the high energy costs 
have made it more expensive to run 
factories and transport goods, hence 

price rises have also been felt in other 
areas, such as food and manufactured 

goods. 

Inflation in Germany is currently 
around 4.9%, down on December’s 

5.3% – which was only the second time 
it has exceeded 5% since reunification 

in 1990 – and is expected to remain 
high at least until the middle of the 
year. The Bundesbank referred to a 

‘consistent extremely high price 
pressure’ in its January monthly report. 

There are multiple reasons behind the 
inflation rate, including supply chain 

issues, price rises to reflect losses 
linked to the pandemic, high demand 
for specific goods and services coupled 

with a labour shortage, as well as a rise 
in the VAT rate, after it was temporarily 

reduced to help businesses last year. 

The most shocking hikes are for 
heating, petrol, diesel, electricity, and 

oil – which according to the consumer 
price index have increased on average 

by 18.3%, but in some cases by as 
much as 50%. 

For a commodity-based economy, 

Australia faces more of an uphill battle 
to keep a lid on prices than most. 

Consumer inflation accelerated at the 
end of 2021 to 3.5%, while the 
underlying rate watched by the central 

bank – Reserve Bank of Australia (RBA) 
– rose to its highest level since mid-

2014 at 2.6%. Record high fuel prices 
were one factor. 
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The RBA’s monk-like ___________ (A) 
to resist lifting the official cash rate 

from its record low 0.1% until wages 
start to rise at least 3% annually will be 

under the spotlight with financial 
markets already pricing in the first hike 
in rates 

It is evident that it is a global 
phenomenon, any anti-inflation march 

or some local policy decisions cannot 
curb the effects. The situation demands 
a consolidated and concrete measure 

by all banking and finance authorities 
around the globe to collectively combat 

this inflation demon. 

 

31. What does the author mean by the 

statement ? 

“Inflation is as violent as a mugger, as 

frightening as an armed robber and as 
deadly as a hit man.” 

I. Inflation is a financial downturn for 
the economy 

II. Inflation is hard to fight over and 

emerge as a winner 

III. Inflation is a temporary phase that 

economies must face 

A. Only I 

B. Only II 

C. Only III 

D. Both II and III 

E. Both I and II 

 

32.What can be inferred from the 

following lines of the passage 

“What was a painful but distant 

memory is now a new reality” 

I. Inflation is the new normal and 
people need to adapt themselves to live 

with it. 

II. Inflation has struck the economy 

again and it has always been painful 
and frightening for consumers. 

III. Inflation had been an experience of 
the past but the conditions now are 

returning to normalcy 

A. Only I 

B. Only II 

C. Only III 

D. Both II and III 

E. All I, II and III 

 

Direction: Read the given passage 
carefully and answer the questions that 
follow. Certain words are printed in 

bold to help you locate them while 
answering some of the these. 

After decades lurking in the shadows, 
inflation is back. On Amazon, you can 
find fridge magnets printed with words 

spoken 40 years ago by Ronald 
Reagan, before the election that swept 

him into the White House. 

“Inflation is as violent as a mugger, as 

frightening as an armed robber and as 
deadly as a hit man.” 

Price spirals remain a real fear for 

many Americans, particularly those 
who lived through the double-digit 

inflation suffered under Reagan’s 
predecessor Jimmy Carter. 

What was a painful but distant memory 

is now a new reality. And it is global. 
The Bureau of Labor Statistics 

announced on Thursday that the 
consumer price index rose year on year 
by 7.5% in January, a level not seen 

since the 1980s. Britain is not far 
behind, with prices rising by 5.4% at 

the end of last year. In the eurozone – 
the 19 countries using the euro – it hit 
5.1% in January, the highest level 

since records began in 1997 

Price rises have hit everyone but 

inflation hits poorer Americans hardest.  
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The lowest-earning fifth of Americans 
already spend 83% of their income on 

housing, according to the labor 
department’s Consumer Expenditure 

Survey, and can ill-afford increases in 
rents, let alone fuel, food, and other 
essentials. 

The Federal Reserve is now preparing 
to raise interest rates in the hope of 

taming soaring prices. 

Italians have been feeling the knock-on 
effects of inflation mostly in their 

utilities bills, with gas and electricity 
costs rising by more than 50% this 

winter. In turn, the high energy costs 
have made it more expensive to run 
factories and transport goods, hence 

price rises have also been felt in other 
areas, such as food and manufactured 

goods. 

Inflation in Germany is currently 

around 4.9%, down on December’s 
5.3% – which was only the second time 
it has exceeded 5% since reunification 

in 1990 – and is expected to remain 
high at least until the middle of the 

year. The Bundesbank referred to a 
‘consistent extremely high price 
pressure’ in its January monthly report. 

There are multiple reasons behind the 
inflation rate, including supply chain 

issues, price rises to reflect losses 
linked to the pandemic, high demand 
for specific goods and services coupled 

with a labour shortage, as well as a rise 
in the VAT rate, after it was temporarily 

reduced to help businesses last year. 

The most shocking hikes are for 
heating, petrol, diesel, electricity, and 

oil – which according to the consumer 
price index have increased on average 

by 18.3%, but in some cases by as 
much as 50%. 

For a commodity-based economy, 
Australia faces more of an uphill battle 

to keep a lid on prices than most. 

Consumer inflation accelerated at the 

end of 2021 to 3.5%, while the 
underlying rate watched by the central 
bank – Reserve Bank of Australia (RBA) 

– rose to its highest level since mid-
2014 at 2.6%. Record high fuel prices 

were one factor. 

The RBA’s monk-like ___________ (A) 
to resist lifting the official cash rate 

from its record low 0.1% until wages 
start to rise at least 3% annually will be 

under the spotlight with financial 
markets already pricing in the first hike 
in rates 

It is evident that it is a global 
phenomenon, any anti-inflation march 

or some local policy decisions cannot 
curb the effects. The situation demands 

a consolidated and concrete measure 
by all banking and finance authorities 
around the globe to collectively combat 

this inflation demon. 

 

33. What can be definitely said about 
Australia after reading this line from 
the passage: 

“For a commodity-based economy, 
Australia faces more of an uphill battle 

to keep a lid on prices than most.” 

I. Australia is weakest of all economies 
that cannot tackle inflation at all 

II. Australia is a commodity-based 
economy that can easily cope with the 

spiralling prices 

III. Australia struggles hard to keep a 
check on the prices and control inflation 

much more than any other nation. 

A. Only I  B. Only II 

C. Only III  D. Both II and III 

E. All I, II and III 
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Direction: Read the given passage 
carefully and answer the questions that 

follow. Certain words are printed in 
bold to help you locate them while 

answering some of the these. 

After decades lurking in the shadows, 
inflation is back. On Amazon, you can 

find fridge magnets printed with words 
spoken 40 years ago by Ronald 

Reagan, before the election that swept 
him into the White House. 

“Inflation is as violent as a mugger, as 

frightening as an armed robber and as 
deadly as a hit man.” 

Price spirals remain a real fear for 
many Americans, particularly those 
who lived through the double-digit 

inflation suffered under Reagan’s 
predecessor Jimmy Carter. 

What was a painful but distant memory 
is now a new reality. And it is global. 

The Bureau of Labor Statistics 
announced on Thursday that the 
consumer price index rose year on year 

by 7.5% in January, a level not seen 
since the 1980s. Britain is not far 

behind, with prices rising by 5.4% at 
the end of last year. In the eurozone – 
the 19 countries using the euro – it hit 

5.1% in January, the highest level 
since records began in 1997 

Price rises have hit everyone but 
inflation hits poorer Americans hardest. 
The lowest-earning fifth of Americans 

already spend 83% of their income on 
housing, according to the labor 

department’s Consumer Expenditure 
Survey, and can ill-afford increases in 
rents, let alone fuel, food, and other 

essentials. 

The Federal Reserve is now preparing 

to raise interest rates in the hope of 
taming soaring prices. 

Italians have been feeling the knock-on 

effects of inflation mostly in their 

utilities bills, with gas and electricity 
costs rising by more than 50% this 

winter. In turn, the high energy costs 
have made it more expensive to run 

factories and transport goods, hence 
price rises have also been felt in other 
areas, such as food and manufactured 

goods. 

Inflation in Germany is currently 

around 4.9%, down on December’s 
5.3% – which was only the second time 
it has exceeded 5% since reunification 

in 1990 – and is expected to remain 
high at least until the middle of the 

year. The Bundesbank referred to a 
‘consistent extremely high price 
pressure’ in its January monthly report. 

There are multiple reasons behind the 
inflation rate, including supply chain 

issues, price rises to reflect losses 
linked to the pandemic, high demand 

for specific goods and services coupled 
with a labour shortage, as well as a rise 
in the VAT rate, after it was temporarily 

reduced to help businesses last year. 

The most shocking hikes are for 

heating, petrol, diesel, electricity, and 
oil – which according to the consumer 
price index have increased on average 

by 18.3%, but in some cases by as 
much as 50%. 

For a commodity-based economy, 
Australia faces more of an uphill battle 
to keep a lid on prices than most. 

Consumer inflation accelerated at the 
end of 2021 to 3.5%, while the 

underlying rate watched by the central 
bank – Reserve Bank of Australia (RBA) 
– rose to its highest level since mid-

2014 at 2.6%. Record high fuel prices 
were one factor. 

The RBA’s monk-like ___________ (A) 
to resist lifting the official cash rate 
from its record low 0.1% until wages 

start to rise at least 3% annually will be 
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under the spotlight with financial 
markets already pricing in the first hike 

in rates 

It is evident that it is a global 

phenomenon, any anti-inflation march 
or some local policy decisions cannot 
curb the effects. The situation demands 

a consolidated and concrete measure 
by all banking and finance authorities 

around the globe to collectively combat 
this inflation demon. 

 

34. Which of the following words can fill 
the given blank. 

The RBA’s monk-like ___________ (A) 
to resist lifting the official cash rate 
from its record low 0.1% until wages 

start to rise 

A. Vigilance    

B. Forbearance 

C. Perseverance    

D. Surveillance 

E. Discipline 

 

Direction: Read the given passage 
carefully and answer the questions that 

follow. Certain words are printed in 
bold to help you locate them while 
answering some of the these. 

After decades lurking in the shadows, 
inflation is back. On Amazon, you can 

find fridge magnets printed with words 
spoken 40 years ago by Ronald 
Reagan, before the election that swept 

him into the White House. 

“Inflation is as violent as a mugger, as 

frightening as an armed robber and as 
deadly as a hit man.” 

Price spirals remain a real fear for 

many Americans, particularly those 
who lived through the double-digit 

inflation suffered under Reagan’s 
predecessor Jimmy Carter. 

What was a painful but distant memory 
is now a new reality. And it is global. 

The Bureau of Labor Statistics 
announced on Thursday that the 

consumer price index rose year on year 
by 7.5% in January, a level not seen 
since the 1980s. Britain is not far 

behind, with prices rising by 5.4% at 
the end of last year. In the eurozone – 

the 19 countries using the euro – it hit 
5.1% in January, the highest level 
since records began in 1997 

Price rises have hit everyone but 
inflation hits poorer Americans hardest. 

The lowest-earning fifth of Americans 
already spend 83% of their income on 
housing, according to the labor 

department’s Consumer Expenditure 
Survey, and can ill-afford increases in 

rents, let alone fuel, food, and other 
essentials. 

The Federal Reserve is now preparing 
to raise interest rates in the hope of 
taming soaring prices. 

Italians have been feeling the knock-on 
effects of inflation mostly in their 

utilities bills, with gas and electricity 
costs rising by more than 50% this 
winter. In turn, the high energy costs 

have made it more expensive to run 
factories and transport goods, hence 

price rises have also been felt in other 
areas, such as food and manufactured 
goods. 

Inflation in Germany is currently 
around 4.9%, down on December’s 

5.3% – which was only the second time 
it has exceeded 5% since reunification 
in 1990 – and is expected to remain 

high at least until the middle of the 
year. The Bundesbank referred to a 

‘consistent extremely high price 
pressure’ in its January monthly report. 

There are multiple reasons behind the 

inflation rate, including supply chain 
issues, price rises to reflect losses 
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linked to the pandemic, high demand 
for specific goods and services coupled 

with a labour shortage, as well as a rise 
in the VAT rate, after it was temporarily 

reduced to help businesses last year. 

The most shocking hikes are for 
heating, petrol, diesel, electricity, and 

oil – which according to the consumer 
price index have increased on average 

by 18.3%, but in some cases by as 
much as 50%. 

For a commodity-based economy, 

Australia faces more of an uphill battle 
to keep a lid on prices than most. 

Consumer inflation accelerated at the 
end of 2021 to 3.5%, while the 
underlying rate watched by the central 

bank – Reserve Bank of Australia (RBA) 
– rose to its highest level since mid-

2014 at 2.6%. Record high fuel prices 
were one factor. 

The RBA’s monk-like ___________ (A) 
to resist lifting the official cash rate 
from its record low 0.1% until wages 

start to rise at least 3% annually will be 
under the spotlight with financial 

markets already pricing in the first hike 
in rates 

It is evident that it is a global 

phenomenon, any anti-inflation march 
or some local policy decisions cannot 

curb the effects. The situation demands 
a consolidated and concrete measure 
by all banking and finance authorities 

around the globe to collectively combat 
this inflation demon. 

 

35. What measures have the 
economies resorted to, to combat 

soaring prices? 

I. Rise in interest rates 

II. Reduction in demand for specific 
goods and services 

III. Increase in VAT rate 

IV. Decrease in cash rate 

A. Only I 

B. Only II 

C. Both I and III 

D. Both II and IV 

E. All I, II, III and IV 

 

36.What can be the probable title for 
the passage? 

A. Inflation- One of the drastic reason 
for economies’ downfall 

B. The rise in global inflation – the hit 

to living standards across the world 

C. How economies must tackle inflation 

on the go 

D. World’s biggest economies are 
drowning in the inflation flood 

E. None of the above 

 

37.Which of the following statement(s) 
is/are True as per the information given 

in the passage. 

I. Consumer inflation hits the economy 
hard giving rise to shocking hikes in 

petrol, diesel, electricity and oil prices. 

II. Labour shortages cause decrease in 

production, giving rise to demand 
supply imbalances - becoming one of 
the reaons for increase in price rise 

III. Pandemic has cause the situation to 
become a bit better for those who have 

minted huge money. 

A. Only I     

B. Only II 

C. Both II and III    

D. All I, II and III 

E. Both I and II 
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38.Which of the following words is a 
clear synonym of the word highlighted 

in the passage? 

Lurking 

A. Prowling  B. Materializing 

C. Skulking  D. Both A and B 

E. Both A and C 

 

Direction: Given below are six 

statements A, B, C, D, E,F and G, which 
when arranged in the correct order, 
form a coherent and meaningful 

paragraph. Rearrange the statements 
in a proper sequence to form a 

meaningful paragraph, and then 
answer the questions that follow. 

A) Known as anupurak pushtahar or 

supplementary nutrition, these are 
provided to children between the ages 

of six months and six years. 

B) This is part of the Integrated Child 

Development Services, which provides 
education and health services for 
children and mothers. 

C) To tackle widespread malnutrition, 
dry rations are distributed in Uttar 

Pradesh through its 1,89,000 
anganwadi centres. 

D) It also aims to provide nutrition to 

pregnant and lactating women, 
malnourished children, and adolescent 

girls between the ages of 11 years and 
16 years. 

E) Severely malnourished children 

should get 600 calories and 20 grams-
25 grams of protein every day, as per 

the Uttar Pradesh Bal Vikas Seva Evam 
Pushtahar Vibhag guidelines. 

F) However, it would be difficult to 

meet these standards if the 
beneficiaries are not getting rations 

regularly. 

 

G) Like Roshni Rawat, 27 getting ration 
once in 2 months, with a responsibility 

of feeding two children, a four-year-old 
and a one-year-old who is severely 

malnourished. 

 

39. What is the correct sequence? 

A. DACBEGF 

B. CADBEFG 

C. CDAEBGF 

D. CEDBAGF 

E. DECABFG 

 

40. 

A) As the water-laden clouds have 
stalled over the Northeast, the region 
has suffered incessant rainfall. 

B) Bangladesh and Myanmar have also 
received far more rainfall than usual as 

a result. 

C) And the high-pressure winds from 

the Indian Ocean move towards this 
area, bringing rain. 

D) Usually, during summer, an area of 

low-pressure forms over Odisha. 

E) Especially during the June-

September monsoon that brings South 
Asia most of its annual rainfall. 

F) But this year, the situation has 

worsened due to the absence of 
easterly winds that usually push the 

monsoon clouds onto the Indo-
Gangetic plains. 

G) Floods in the Brahmaputra basin in 

Assam and downstream Bangladesh 
are common every year. 

What is the correct sequence? 

A. FEGABCD 

B. FEGADBC 

C. GEFABDC 

D. GEFBDAC 

E. GEFDACB 
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Direction: In the following question, a 
sentence is given with a blank to be 

filled in with appropriate words. Five 
alternatives are suggested for the 

question. Choose the correct 
alternative, such that both the words fit 
contextually and grammatically in the 

given statement.  

41. Tree seed shortages 

_________________ by decades of 
drought and recent extreme wildfire 
seasons mean the future of our forests 

could be in jeopardy. 

A. Coalesce, magnified 

B. Compounded, worsened 

C. Followed, decreased 

D. Augmented, intensify 

E. Synthesized, commingled 

 

42.Decentralization is considered a 
requirement that addresses 

__________________ or spatial 
imbalances in the country, provided 
that the necessary standards for 

effective implementation are met. 

A. Earthly, large 

B. Profound, terrestrial 

C. Geographical, territorial 

D. Deepening, topographical 

E. Zonal, peculiar 

 

Direction: In the following question, a 
sentence is given with a blank to be 
filled in with appropriate words. Five 

alternatives are suggested for the 
question. Choose the correct 

alternative, such that both the words fit 
contextually and grammatically in the 
given statement.  

43. Although their graduation dates 
_________, the two classmates never 

knew each other during college. 

 

A. Merged, coexisted 

B. Coincided, Clashed 

C. Amalgamated, accorded 

D. Rammed, Harmonized 

E. Collided, tallied 

 

44.The loan officer approved my 

request when my parents gave their 
_____________ that the money would 

be repaid. 

A. Insurance, confidence 

B. Endurance, opinion 

C. Assurance, Guarantee 

D. Approval, positiveness 

E. Grant, help 

 

45.The Supreme Court is looking into 

effective ____________ by social 
media companies like Facebook and 

twitter with the provisions of the 
Information Technology Act to help 

detect cyber- crimes. 

A. Complaint, measures 

B. Defiance, policy 

C. Violation, period 

D. Compliance, Abidance. 

E. Date, obedient 

 

Direction: Out of the statements given 

below, one statement may be 
grammatically and contextually 

correct. Choose the correct statement 
as your answer. If all the statements 
are correct, choose E, i.e. ‘All are 

correct’.  

46.  

A. The nature club of the school has 
taken the initiative to regulate traffic 
near the school after the last bell, to 

discourage any overcrowd in front of 
the school gates. 
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B. The post-war literature saw the rise 
of many angry young man, who were 

frustrated with the nature of things 
around them. 

C. In June last year, one of India’s 
more populous cities, Chennai faced an 
acute water shortage when the cities 

four major reservoirs dried up after a 
delay in the onset of monsoons. 

D. Many brands of hand sanitizers were 
recalled in the U.S. earlier this year 
after testing revealed contamination 

with methanol, which could pose 
serious health risks if ingested. 

E. All are correct 
 

47. 

A. Subglacial lakes are bodies of water 
that form when melted water 
generated from a number of sources 

gets trapped in the thickness of ice or 
in depression. 

B. Despite innumerable efforts to get 
the ordinance passed by the council, 
pollution continued to be persistent in 

metropolitan cities. 
C. The iconic Shinkansen bullet trains, 

a network of high-speed railway lines in 
Japan that are a symbol of reliability, 

safety, and are known for their high 
standards of design, are going to be 
import to India. 

D. Based on a novel by Stephen King 
on death penalty, the reality of the 

death penalty and the movie will make 
you take a long hard look at make you 
think about your stand on it. 

E. All are correct 
 

Direction: Out of the statements given 

below, one statement may be 
grammatically and contextually 

correct. Choose the correct statement 
as your answer. If all the statements 
are correct, choose E, i.e. ‘All are 

correct’.  
 

48.  
A. The teachers have voted to continue 

the hunger strike to support eight 
colleagues who were dismissed without 

any reason last week. 
B. If a coach appears more crowded 
than usual, riders can choose to move 

to another less crowded coach on the 
train. 

C. Amid heavy rains, there was a loud 
bang, raising the fear among the 
villagers who anticipated that the 

nearby dam had bursted and flooded 
the entire region. 

D. The measles, mump, and rubella 
vaccines market is observing 
significant growth due to high incidence 

of pneumococcal infections. 
E. All are correct 
 

Direction: Out of the statements given 
below, one statement may be 
grammatically and contextually 

correct. Choose the correct statement 
as your answer. If all the statements 

are correct, choose E, i.e. ‘All are 
correct’.  
49.  

A. The forest panel of the Indian 
government’s environment ministry 

has approved guidelines that would 
allow private industries to be involved 
in the creation of plantations on 

degraded forest land. 
B. Sarita has invited kajal and I to her 

sangeet ceremony to be held in 
Mumbai by the end of this month. 
C. Everybody saves something for old 

times sake, as in the future it may be 
worth some money as collector's item 

which is no longer made. 
D. The yellow lines that runs through 

the platforms in the metro stations are 
actually tactile pavings, that serve the 
purpose of guiding the viscerally 

impaired metro users. 

E. All are correct 
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Direction: In the following question, a 
paragraph with four words printed in 

bold is given. These words are 
numbered as (A), (B), (C) and (D). One 

of these four words may be 
inappropriate in the context of the 
sentence. Find out the word(s) that is 

inappropriate and mark the relevant 
option as your answer. If all the words 

printed in bold are correct, mark option 
(E), i.e. ‘All are correct’, as the answer.  

50. Generations of Indians have grown 

up hearing that if they want better 
health and more strength they must 

“peeyo glassful doodh”. But for 
centuries milk did not reliably promise 
vitality (A) to its drinkers. Milk in 

India could be unsafe, unreliable, (B) 
especially in urban areas. Carting it 

under the scorching (C) tropical sun, 
often in open cans, made it unusable. 

Adulteration was a persistent (D) 
concern, as was lack of hygiene. 

A. A 

B. B 

C. C 

D. D 

E. All are correct 

 

51.The Black Sea is interested (A) 
infested with hundreds of mines 

dropped by both sides in Russia’s war 
on Ukraine, posing a serious threat to 
people. It’s truly a big problem. (B) 

These mines are there with other 
unexploded (C) devices from the 

second world war. It will take a long 
time to clear (D) the waters of these 
devices. 

A. A   B. B 

C. C   D. D 

E. All are correct 

 

Direction: Select the phrase 
/connector from the given options 

which can be used to form a single 
sentence from the two sentences given 

below, implying the same meaning as 
expressed in the statement sentences. 
Pick out the option that when used to 

start a sentence combines both the 
above sentences in one.  

52. A brand manager can extract a 
special quality feature from the peak 
performances. 

The company can use this feature to 
differentiate from the competition and 

demand higher prices from customers. 

I. If the brand manager is able to 

II. When the customer 

III. Brand manager must also 

A. Only II 

B. Only III 

C. Only I 

D. Both II and III 

E. Both I and III 

 

Direction): Select the 
phrase/connector from the given 

options which can be used to form a 
single sentence from the two sentences 
given below, implying the same 

meaning as expressed in the statement 
sentences. Pick out the option which 

when used in a sentence combines both 
the above sentences in one.  

53. Education is the most commonly 

used measure of SES in 
epidemiological studies. None of the 

investigators in the United States has 
conducted an empirical analysis 
quantifying the relative impact of each 

separate dimension of SES on risk 
factors for disease. 

I. Although 

II. Despite the fact that 
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III. Since 

A. Only I 

B. Both I and II 

C. Only III 

D. All I, II and III 

E. Both I and III 

 

54.By the early 17th century, England 
was a centralized state in which much 

of the feudal order of Medieval Europe 
had been swept away. This 
centralization was strengthened by a 

good system of roads and by a 
disproportionately large capital city, 

London. 

I. And additionally, this centralization 

II. Although this centralization 

III. Therefore, this centralization 

A. Only I 

B. Only II 

C. Only III 

D. Both II and III 

E. None of these 

 

Direction: Read the given passage 
carefully and answer the questions that 

follow. Certain words are printed in 
bold to help you locate them while 
answering some of the these. 

Our arguments over food are so 
polarised because they are not only 

about evidence: they are about values. 
Our choice of what we put inside us 
physically represents what we want 

inside ourselves spiritually, and that 
varies so much from person to person. 

Nutritionism and essentialism provide 
comfortingly clear perspectives about 
what makes food healthful. But an 

open-minded look at the evidence 
suggests that many of the most hotly 

debated questions about nutrition are 
impossible to answer with the 

information we have, maybe with the 
information we will ever have in the 

foreseeable future. If we isolate 
nutrients and eat them in different 

forms than they naturally come in, how 
will they affect us? Can processed foods 
be made in ways to approach or even 

surpass the healthfulness of natural 
whole foods? 

We can’t know and control exactly what 
people eat for long periods. Human 
bodies are so fascinating in part 

because they are so variable and 
malleable. Beyond some important 

universals, such as the vitamins 
discovered a century ago, different 
people’s bodies work differently, 

because of their genes, behaviours and 
environments. The food we eat today 

changes the way our bodies work 
tomorrow, making yesterday’s 

guidance out of date. There are too 
many variables and too few ways to 
control them. 

Scurvy was a nutritional puzzle with 
relatively few variables. It comes on 

and can be resolved quickly, it’s 
reliably caused by – and only by – the 
shortage of one chemical, and it’s 

pretty consistent across individuals. 
Yet even in the era of modern science, 

more than a century after the British 
navy mandated a preventative that had 
been shown to work, some of the 

leading scientists of the day still 
managed to talk themselves from the 

right explanation to wrong ones. If 
scurvy was so resistant to the correct 
explanation, we can imagine how much 

harder it will be to fully understand how 
food relates to far more complicated 

scourges such as cancer, heart disease 
and dementia. 
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But there’s a flip side to that 
frustration. Maybe the reason that diet 

is so difficult to optimise is that there is 
no optimal diet. We are enormously 

flexible omnivores who can live 
healthily on varied diets, like our 
hunter-gatherer ancestors or modern 

people filling shopping carts at globally 
sourced supermarkets, yet we can also 

live on specialised diets, like traditional 
Inuits who mostly ate a small range of 
Arctic animals or subsistence farmers 

who ate little besides a few grains they 
grew. People spend far too much time 

worrying about eating the wrong 
things. The “dangers” from these 
things are so very small that, if they 

bring you enough happiness, that likely 
outweighs the downsides. So much of 

our food discussions are moralising and 
fear-inducing. Food isn’t poison, and 

this is pretty much the healthiest 
people have even been in the history of 
mankind. Food isn’t killing us.’ 

Food is a vehicle for ideologies such as 
nutritionism and essentialism, for 

deeply held desires such as connecting 
with nature and engineering a better 
future. We argue so passionately about 

food because we are not just looking 
for health – we’re looking for meaning. 

Maybe, if meals help provide a sense of 
meaning for your life, that is the 
healthiest thing you can hope for. 

 

55. Which of the following statement(s) 

is/are False as per the passage? 

I. The food we eat is a reflection of our 
values and our ideologies. 

II. Too much discussion about food is 
fear-inducing more than health-

inducing. 

III. There is no diet that can be called 
truly optimal. 

IV. Scientists can study the effects of 
food by controlling what people eat for 

long periods. 

A. Only I 

B. Only II 

C. Both II and III 

D. Both I and IV 

E. Only IV 

 

Direction: Read the given passage 
carefully and answer the questions that 
follow. Certain words are printed in 

bold to help you locate them while 
answering some of the these. 

Our arguments over food are so 
polarised because they are not only 
about evidence: they are about values. 

Our choice of what we put inside us 
physically represents what we want 

inside ourselves spiritually, and that 
varies so much from person to person. 

Nutritionism and essentialism provide 
comfortingly clear perspectives about 
what makes food healthful. But an 

open-minded look at the evidence 
suggests that many of the most hotly 

debated questions about nutrition are 
impossible to answer with the 
information we have, maybe with the 

information we will ever have in the 
foreseeable future. If we isolate 

nutrients and eat them in different 
forms than they naturally come in, how 
will they affect us? Can processed foods 

be made in ways to approach or even 
surpass the healthfulness of natural 

whole foods? 

We can’t know and control exactly what 
people eat for long periods. Human 

bodies are so fascinating in part 
because they are so variable and 

malleable. Beyond some important 
universals, such as the vitamins 
discovered a century ago, different 

people’s bodies work differently, 
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because of their genes, behaviours and 
environments. The food we eat today 

changes the way our bodies work 
tomorrow, making yesterday’s 

guidance out of date. There are too 
many variables and too few ways to 

control them. 

Scurvy was a nutritional puzzle with 

relatively few variables. It comes on 
and can be resolved quickly, it’s 
reliably caused by – and only by – the 

shortage of one chemical, and it’s 
pretty consistent across individuals. 

Yet even in the era of modern science, 
more than a century after the British 
navy mandated a preventative that had 

been shown to work, some of the 
leading scientists of the day still 

managed to talk themselves from the 
right explanation to wrong ones. If 
scurvy was so resistant to the correct 

explanation, we can imagine how much 
harder it will be to fully understand how 

food relates to far more complicated 
scourges such as cancer, heart disease 

and dementia. 

But there’s a flip side to that 

frustration. Maybe the reason that diet 
is so difficult to optimise is that there is 
no optimal diet. We are enormously 

flexible omnivores who can live 
healthily on varied diets, like our 

hunter-gatherer ancestors or modern 
people filling shopping carts at globally 
sourced supermarkets, yet we can also 

live on specialised diets, like traditional 
Inuits who mostly ate a small range of 

Arctic animals or subsistence farmers 
who ate little besides a few grains they 
grew. People spend far too much time 

worrying about eating the wrong 
things. The “dangers” from these 

things are so very small that, if they 
bring you enough happiness, that likely 

outweighs the downsides. So much of 
our food discussions are moralising and 
fear-inducing. Food isn’t poison, and 

this is pretty much the healthiest 
people have even been in the history of 

mankind. Food isn’t killing us.’ 

Food is a vehicle for ideologies such as 
nutritionism and essentialism, for 
deeply held desires such as connecting 

with nature and engineering a better 
future. We argue so passionately about 

food because we are not just looking 
for health – we’re looking for meaning. 
Maybe, if meals help provide a sense of 

meaning for your life, that is the 

healthiest thing you can hope for. 
 

56. As per the author, why is there no 

way of optimising diet? 

A. Because our meals offer no sense of 

meaning in our lives. 

B. Because most human beings follow 
nutrition and essentialism to develop 

clearer perspectives about what makes 

food healthy. 

C. Because Human bodies are 
malleable and variable, and the 
multiple variables make it difficult to 

control them and to make any rules 

about food. 

D. Because people spend far too much 
time worrying about eating wrong 

things 

E. None of the above 
 

57.Which of the following statements 
about food would the author most likely 

agree with? 

A. We separate the nutrients from the 

food and eat them in different forms to 

stay healthy. 

B. In the modern age, the younger 
generation have a clear idea about how 

food relates to complicated scourges 
such as cancer, heart disease, and 

dementia and how we must keep 

control on eating unhealthy food. 
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C. There is a strong connection 
between the food we eat and our 

spirituality. 

D. Modern science has finally 

discovered the optimum diet for human 
beings. 

E. Both A and D 

 

58.What is the central theme of the 

passage? 

I. Scurvy- its origin and how food is 
responsible for health challenges we 

face in our day to day life. 

II. Food and Nutrition- our deeply held 

desires to connect with nature and 
engineer a better future 

III. Food choices- With human bodies 

being so variable and malleable, it is 
difficult to have a clear idea about what 

one should eat 

A. Only I 

B. Only II 

C. Only III 

D. Both I and II 

E. Both II and III 

 

Direction: Read the given passage 
carefully and answer the questions that 
follow. Certain words are printed in 

bold to help you locate them while 
answering some of the these. 

Our arguments over food are so 
polarised because they are not only 
about evidence: they are about values. 

Our choice of what we put inside us 
physically represents what we want 

inside ourselves spiritually, and that 
varies so much from person to person. 

Nutritionism and essentialism provide 

comfortingly clear perspectives about 
what makes food healthful. But an 

open-minded look at the evidence 
suggests that many of the most hotly 

debated questions about nutrition are 
impossible to answer with the 

information we have, maybe with the 
information we will ever have in the 

foreseeable future. If we isolate 
nutrients and eat them in different 
forms than they naturally come in, how 

will they affect us? Can processed foods 
be made in ways to approach or even 

surpass the healthfulness of natural 
whole foods? 

We can’t know and control exactly what 

people eat for long periods. Human 
bodies are so fascinating in part 

because they are so variable and 
malleable. Beyond some important 
universals, such as the vitamins 

discovered a century ago, different 
people’s bodies work differently, 

because of their genes, behaviours and 
environments. The food we eat today 

changes the way our bodies work 
tomorrow, making yesterday’s 
guidance out of date. There are too 

many variables and too few ways to 
control them. 

Scurvy was a nutritional puzzle with 
relatively few variables. It comes on 
and can be resolved quickly, it’s 

reliably caused by – and only by – the 
shortage of one chemical, and it’s 

pretty consistent across individuals. 
Yet even in the era of modern science, 
more than a century after the British 

navy mandated a preventative that had 
been shown to work, some of the 

leading scientists of the day still 
managed to talk themselves from the 
right explanation to wrong ones. If 

scurvy was so resistant to the correct 
explanation, we can imagine how much 

harder it will be to fully understand how 
food relates to far more complicated 
scourges such as cancer, heart disease 

and dementia. 
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But there’s a flip side to that 
frustration. Maybe the reason that diet 

is so difficult to optimise is that there is 
no optimal diet. We are enormously 

flexible omnivores who can live 
healthily on varied diets, like our 
hunter-gatherer ancestors or modern 

people filling shopping carts at globally 
sourced supermarkets, yet we can also 

live on specialised diets, like traditional 
Inuits who mostly ate a small range of 
Arctic animals or subsistence farmers 

who ate little besides a few grains they 
grew. People spend far too much time 

worrying about eating the wrong 
things. The “dangers” from these 
things are so very small that, if they 

bring you enough happiness, that likely 
outweighs the downsides. So much of 

our food discussions are moralising and 
fear-inducing. Food isn’t poison, and 

this is pretty much the healthiest 
people have even been in the history of 
mankind. Food isn’t killing us.’ 

Food is a vehicle for ideologies such as 
nutritionism and essentialism, for 

deeply held desires such as connecting 
with nature and engineering a better 
future. We argue so passionately about 

food because we are not just looking 
for health – we’re looking for meaning. 

Maybe, if meals help provide a sense of 
meaning for your life, that is the 
healthiest thing you can hope for. 

 

59. Which of the following statement(s) 

strongly support the context of the 
passage? 

I. Vitamins are the most crucial 

identified nutrient for the body and its 
parts to function practically well. 

II. Studies that compare people’s diets 
with their health outcomes are highly 
prone to finding associations that 

emerge purely by chance. 

III. Processing food is good if it is to 
increase shelf life and reduce food 

waste 

A. Only I 

B. Only II 

C. Only III 

D. Both I and II 

E. Both II and III 

 

60.Which of the following describes the 
tone of the passage correctly? 

A. Acerbic  B. Grandiose 

C. Sarcastic  D. Motivating 

E. Dogmatic 

 

Reasoning 
Direction: Study the following 
information and answer the given 

questions. 

In an eleven storey building, having 
floors numbered 1 to 11, A, B, C, D, E, 

F, G, H and I each live on a different 
floor. The ground floor is numbered 

floor number 1, the floor above it is 
numbered 2 and so on. Two of the 

floors in the building are vacant. 

A lives on the fifth floor. None of the 
vacant floor is an odd-numbered floor. 

There are three floors between the 
floors on which B and D live. E does not 

live on a floor immediately above or 
immediately below C's floor. There is 
one vacant floor between the floors on 

which H and G live. The number of 
floors between the two vacant floors is 

the same as the floor number on which 
D lives. E does not live on an odd -
numbered floor and F lives below A. 

Only D lives between E and F. H lives 
on a prime numbered floor. C lives on 

an odd-numbered floor.  

 

61. Who lives on the topmost floor? 
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A. G 

B. H 

C. I 

D. Vacant 

E. Either G or H 

 

62.On which of the following floor does 

G live? 

A. 7 

B. 8 

C. 9 

D. 6 

E. Cannot be determined 

 

63.Which of the following floors are 
vacant? 

A. 10 and 8 

B. 8 and 6 

C. 4 and 6 

D. 10 and 6 

E. Can’t be determined 

 

64.Who lives just above G? 

A. H      

B. I 

C. F      

D. B 

E. None 

 

65.Who lives three floors above E? 

A. I   B. C 

C. B   D. G 

E. H 

 

66.Direction: The question below 
consists of a question and two 

statements numbered I and II given 
below it. You have to decide whether 
the data provided in the statements are 

sufficient to answer the question. Read 
both the statements and give answer. 

There are 6 people namely U, V, W, X, 
Y and Z. They take 6 different lectures 

in two months, May and June on 6 
different dates namely, 5th may, 6th 
may, 7th may, 10th june, 11th june and 

26th june. Who takes the last lecture? 

I. U takes the first lecture and X does 

not take a lecture in June. No one takes 
lecture between W and Y. Y takes 
lecture before W. One person takes 

lecture between Z and W. 

II. Y and Z take lectures on two 

continuous days. 

A. Data in Statement I alone are 
sufficient to answer the question, while 

the data in Statement II alone are not 
sufficient to answer the question. 

B. Data in Statement II alone are 
sufficient to answer the question, while 

the data in Statement I alone are not 
sufficient to answer the question. 

C. Data in both the Statements I and II 

together are not sufficient to answer 
the question. 

D. Data in both the Statements I and II 
together are necessary to answer the 
question. 

E. Data in either of the Statements 
alone is sufficient to answer the 

question. 

 

Direction: The question below consists 

of a question and two statements 
numbered I and II given below it. You 

have to decide whether the data 
provided in the statements are 
sufficient to answer the question. Read 

both the statements and give the 
answer.  

 

67. What is the code for ‘is’ in the code 

language? 
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Statements: 

I. ‘nik sik tik’ means ‘life is short’, ‘rik 
dik nik’ means ‘long or short’ and ‘fik 

tik rik’ means ‘death or life’. 

II. ‘pik nik lik’ means ‘you are short’, 

‘sik no pik’ means ‘this is you’ and ‘no 

kik ro’ means ‘this was amazing’. 

A. If the data in statement I alone are 
sufficient to answer the question, while 

the data in statement II alone are not 

sufficient to answer the question. 

B. If the data in statement II alone are 
sufficient to answer the question, while 

the data in statement I alone are not 

sufficient to answer the question. 

C. If the data either in statement I 
alone or in statement II alone are 

sufficient to answer the question. 

D. If the data given in both statements 

I and II together are not sufficient to 

answer the question. 

E. If the data given in both statements 
I and II together are necessary to 

answer the question. 

 

Direction: The question below consists 

of a question and two statements 
numbered I, and II given below it. You 
have to decide whether the data 

provided in the statements are 
sufficient to answer the question. Read 

all the two statements and give 

answer.  

68. In a family of five members, there 
are only two male members. Who is the 

brother in law of Sheetal? 

1) Sheetal is married to brother of 

Rekha. Rita is daughter of Sheetal. 

2) Rohit and Raju are the two brother 

of Rekha. Only Rohit has no child. 

 

 

A. Data in statements I sufficient to 
answer the question while the data in 

statement II are not required to answer 

the question. 

B. Data in statements II sufficient to 
answer the question, while the data in 

statement I are not required to answer 

the question 

C. Data in statements either I or II are 

sufficient to answer the question. 

D. Data in neither statement I nor 

statement II or statement are sufficient 

to answer the question. 

E. Data in both statement I and II 
together are necessary to answer the 

questions. 

 

Direction: The question below consists 
of a question and two statements 

numbered I and II given below it. You 
have to decide whether the data 

provided in the statements are 

sufficient to answer the question. 

69. Are some boys are students? 

I. Some students are teachers and all 

teachers are boys. 

II. Some teachers are students and all 

boys are teachers. 

A. The data in statement I alone is 
sufficient to answer the question, while 

the data in statement II alone is not 

sufficient to answer the question 

B. The data in statement II alone is 
sufficient to answer the question, while 
the data in statement I alone is not 

sufficient to answer the question 

C. The data either in statement I alone 
or in statement II alone is sufficient to 

answer the question 

D. The data in both statements I and II 

even together is not sufficient to 

answer the question 

E. The data in both statements I and II 
together is necessary to answer the 

question 

Direction: In the following each 
question, some conclusions and some 

set of statements are given. You have 
to decide which set of statements 

logically satisfies the given conclusions. 
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Study the data carefully and answer 
the questions accordingly.  

70. Conclusions: 

I. Some Dogs are Black. 

II. Some Ants are not Elephants. 

Statements: 

I. Some Ants are Black. Some Black are 

Dogs. No Dog is Elephants. 

II. Some Ants are Black. All Black are 

Dogs. No Dog is Elephants. 

III. All Ants are Black. All Black are 
Dogs. Some Dogs are Elephants. 

A. Only III     

B. Both II and III 

C. Only II      

D. Both I and III 

E. None of them 

 

71.Conclusions: 

I. All new being music is a possibility. 

II. No new is plane. 

Statements: 

I. Some new are car. No car is plane. 
All plane are music. 

II. Some new are car. No car is plane. 
Some plane are music. 

III. All new are car. No car is plane. All 
plane are music. 

A. Only III 

B. Both II and III 

C. Only II 

D. Both I and III 

E. None of them 

 

 

72.Conclusions: 

I. Some blue are not white. 

II. Some pink are blue. 

Statements: 

I. All white are pink. No pink is blue. 
Some blue is grey. 

II. No white is pink. Some pink are 
grey. All grey are blue. 

III. Some pink are white. No pink is 
grey. Some grey are blue. 

A. Only III 

B. Both II and III 

C. Only II 

D. Both I and III 

E. None of them 

 

73.Conclusions: 

I. Some cab are dull. 

II. All open being car is a possibility. 

Statements: 

I. All dull are car. All car are cab. Some 

cab are open. 

II. All dull are car. Some car are cab. 

Some cab are open. 

III. Some dull are car. All car are cab. 

Some cab are open. 

A. Only III 

B. Both II and III 

C. Only II 

D. Both I and III 

E. None of them 

 

Direction: Read the following 

information carefully to answer the 
questions based on it. 

Seven persons P, Q, R, S, T, U and V 
are in politics. The designation of each 
one of them is different viz. President, 

Vice president (VP), Prime Minister 
(PM), Governor, Chief Justice (CJ), 

Speaker and Chief Minister (CM), not 
necessarily in the same order. The 
given designations are from senior 

most to junior most from left to right in 
the above order, for example - 

‘President’ is the senior most post and 
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‘Chief Minister’ is the junior most post. 
Each one of them belongs to a different 

state viz. Gujarat, Bengal, 
Maharashtra, Uttar Pradesh (UP), 

Uttarakhand (UK), Jharkhand and 
Karnataka, not necessarily in the same 
order. 

 

P is the chief justice. Only one person’s 

designation is between the one who is 
from Karnataka and the one who is 
from Bengal. Only one person’s 

designation is between Q and the one 
who is from Jharkhand. U is senior to 

V. T is from Maharashtra. More than 
two persons’ designations are between 
R and U. Q is just junior to the one who 

is from Karnataka. The one who is from 
Uttarakhand is junior to the one who is 

from Uttar Pradesh. The one who is 
from Gujarat is not senior to the one 

who is from Uttar Pradesh but senior to 
the one who is from Uttarakhand. The 
one who is from Bengal is the Prime 

Minister. V is just junior to the one who 
is from Uttar Pradesh. Only two 

persons’ designations are between U 
and S, who is neither from Uttarakhand 
nor from Karnataka. Only two persons’ 

designations are between the one who 
is from Jharkhand and R.  

 

74. What is the designation of R? 

A. President 

B. Speaker 

C. Chief Minister 

D. Prime Minister 

E. None of these 

 

75.How many persons are junior to V? 

A. 1 

B. 2 

C. 3 

D. More than 3 

E. None of these 

 

76.The governor is from which of the 
following state? 

A. Uttar Pradesh 

B. Uttarakhand 

C. Gujarat 

D. Jharkhand 

E. Karnataka 

 

77.Which of the following combination 

is definitely true? 

A. Prime Minister – Karnataka 

B. S – Maharashtra 

C. R – Governor 

D. Q – President 

E. R – Uttarakhand 

 

78.Who is from Gujarat? 

A. W 

B. U 

C. P 

D. Q 

E. T 

 

Direction: Read the following 

information carefully to answer the 
questions based on it. 

Seven scooters P, Q, R, S, T, U and V 
are parked in a straight line facing the 
south, not necessarily in the same 

order. The colour of each scooter is 
different viz., pink, golden, silver, 

black, grey, brown and white, not 
necessarily in the same order. The 
distance between the neighbouring 

scooters was a successive integral 
multiple of 15. The distance increased 

from left to right. 
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P was parked third to the right of the 
brown scooter. Q was 405 meters to 

the left of the black scooter. R was 
parked exactly between V and the 

white scooter. The Grey scooter was to 
the immediate right of the silver 
scooter. The silver scooter was 345 

meters to the right of S. Brown scooter 
and S were parked together. The black 

scooter was 255 meters away from T. 
Pink scooter was at one of the extreme 
ends. The colour of V was not golden. 

The distance between any two scooters 
was less than 240 meters. Scooter U 

moved 150 meters north from its 
position. It took a left turn and moved 
for 240 meters. It then took a left turn 

and moved for 90 meters to reach point 
C. The grey scooter moved 120 meters 

south of its position and took a left turn 
and moved for 75 meters, from there it 

took a left turn and moved for 60 
meters to reach point B.  

 

79. What is the minimum distance 
between point C and point B and in 

which direction is point B with respect 
to point C? 

A. 150m, north 

B. 120m, north-west 

C. 150m, south-east 

D. 120m, south 

E. None of these 

 

80.What is the distance between pink 
car and car U? 

A. 675 m  B. 660 m 

C. 690 m  D. 645 m 

E. None of these 

81.What is the approximate minimum 
distance between point B and car S? 

A. 430m 

B. 415m 

C. 424m 

D. 435m 

E. 405m 

 

82.Which of the following combinations 
is correct? 

A. R-Brown 

B. S-Pink 

C. V-Black 

D. P-White 

E. U-Silver 

 

83.What is the distance between the 
white car and golden car? 

A. 615m 

B. 630m 

C. 600m 

D. 585m 

E. None of these 

 

Direction: Study the following 

information carefully and answer the 
given questions. 

Certain number of people sit around a 

circular table and face towards the 
center of the table. Some of them like 

different colours. 

Three people sit between G and the one 
who likes Grey. The one who likes 

Orange sits third to the left of T. The 
number of people sit between G and T 

is same as the number of people sit 
between T and M. B sits third to the 
right of M who doesn’t like Purple. T sits 

second to the left of the one who likes 
Grey. Two people sit between B and the 

one who likes Purple. The one who likes 
Green sits fourth to the right of the one 
who likes Grey. Five people sit between 

Q and the one who likes Black. B 
doesn’t sit adjacent to the one who 

likes Black. Three people sit between M 
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and the one who likes Black. The one 
who likes Pink sits third to the right of 

the one who likes Green. Q doesn’t sit 
adjacent to the one who likes Pink. U 

sits to the immediate left of the one 
who likes Black and third to the left of 
the one who likes Yellow. The one who 

likes Red sits second to the right of the 
one who likes Yellow. One person sits 

between the one who likes Green and 
Q who is not a neighbour of B . Same 
number of people sit between the one 

who likes Grey and A from both sides.  

 

84. How many people sit around the 
circular table? 

A. Twenty two 

B. Eighteen 

C. Twenty 

D. Twenty one 

E. None of these 

 

85.Who amongst the following likes 
Yellow? 

A. M   B. A 

C. U   D. B 

E. None of these 

 

86.Who amongst the following sits 

eighth to the right of the one who likes 
Red? 

A. Q 

B. The one who likes Pink 

C. The one who likes Grey 

D. T 

E. None of these 

 

87.How many people sit between U and 
the one who likes Orange when 

counted from the right of U? 

A. Six 

B. Eight 

C. Five 

D. Seven 

E. None of these 

 

88.Which amongst the following pair 
incorrect? 

A. Q - Red 

B. T - Purple 

C. G - Green 

D. U - Pink 

E. All are correct 

 

Direction: Study the following 
information carefully and answer the 

questions given below: 

There is XY axis in such a way that X is 
in north and Y is in the south direction. 

There is PQ axis in such a way that P is 
in the west direction and Q is in the 

east direction. XY axis and PQ axis 
intersect at a point A in such a way that 

XA is 4m, AY is 6m, PA is 6m and AQ is 
8m. Amit starts from point Y and walks 
for 6m to the west, then takes a left 

turn and walks for 8m then he takes a 
left turn and walks for 10m and 

stopped at point M. Point S is exactly 
between point A and point Q. Point O is 
4m to the east of point X.  

 

89. In which of the following direction 

is point O with respect to point M? 

A. North 

B. North-west 

C. South-west 

D. South 

E. North-east 

90.What is the distance between point 
O and point S? 

A. 6m 

B. 8m 

C. 4m 

http://www.byjusexamprep.com/
https://byjusexamprep.com/bank-regulatory-exams-online-coaching


www.byjusexamprep.com 
 

 

 
29 

 

D. 10m 

E. 7m 

 

91.In which of the following direction is 

point X with respect to point Q? 

A. North 

B. North-west 

C. South-west 

D. South 

E. North-east 

 

92.If point G is 10m to the west of point 

M, then what is the distance between 
point P and point G? 

A. 12m 

B. 10m 

C. 14m 

D. 16m 

E. 18m 

 

93.In which of the following direction is 

point P with respect to point O? 

A. North 

B. North-west 

C. South-west 

D. South 

E. North-east 

 

Direction: Study the data carefully 

and answer the questions accordingly. 

Seven people of a family play chess on 

seven different days of the same week 
starting from Sunday. The sister of L 
plays chess before him. The uncle of O 

plays chess immediately before the 
husband of R. The uncle of T plays 

chess before Thursday. The mother of 
O plays chess before Wednesday. O is 
the granddaughter of P. R is the mother 

of V and T. Three people play chess 
between V and his brother. Two people 

play chess between P and his brother-
in-law. Two people play chess between 

Y and L. Y is the sister-in-law of V, who 
is unmarried.  

 

94. Who plays chess on Monday? 

A. Brother of R 

B. Daughter of Y 

C. Brother of T 

D. Son of R 

E. None of these 

 

95.How many people play chess after 
R? 

A. Five 

B. Four 

C. One 

D. Three 

E. None of these 

 

96.How R is related to the one, who 

plays chess on Sunday? 

A. Daughter-in-law 

B. Mother-in-law 

C. Sister 

D. Mother 

E. None of these 

 

97.The brother-in-law of L plays chess 

on which day? 

A. Wednesday B. Friday 

C. Saturday  D. Sunday 

E. None of these 

 

Direction: Study the following data 
carefully and answer the questions 

accordingly. 

A number arrangement machine when 
given an input line of numbers 

rearranges them following a particular 
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rule in each step. The following is an 
illustration of input and 

rearrangement: 

Input: 873246 243562 893224 568736 

485303 

Step I: 216 117 160 304 102 

Step II: 1080 585 800 1520 510 

Step III: 510 585 800 1080 1520 

Step IV: 3570 4095 5600 7560 10640 

Step V: 15 18 11 18 11 

Step V is the last step of the 
rearrangement. As per the rules 

followed in the above steps, find out in 
each of the following questions the 

appropriate steps for the given input. 

Input: 367821 983749 625382 
938492 253214  

 

98. Which of the following is step IV? 

A. 2450 5915 160 10500 14000 

B. 2450 915 6160 10500 14000 

C. 245 5915 6160 10500 14000 

D. 2450 5915 6160 10500 14000 

E. None of these 

 

99.What is the sum of all the numbers 

in step V? 

A. 50 

B. 56 

C. 70 

D. 55 

E. None of these 

 

 

100.Which is the third number from left 
in step III? 

A. 880 

B. 845 

C. 350 

D. 1500 

E. None of these 

 

101.Which is the second number from 
right in the last step? 

A. 13 

B. 6 

C. 5 

D. 11 

E. 20 

 

102.What is the difference between the 
number which is at the right end and 

left end in step IV? 

A. 11500 

B. 10000 

C. 11550 

D. 11000 

E. None of these 

 

Direction: Study the following data 
carefully and answer the questions 

accordingly. 

Six people are born in six different 
years i.e. 1953, 1962, 1970, 1975, 

1983, and 2003 but not necessarily in 
the same order. The age is calculated 

according to the present year i.e. 2021. 
Two people are born between R and M 
where M is older than R. One person is 

born between G and R. The age of G is 
not a prime number. Two people are 

born between Q and G. S is younger 
than Q. The age difference of S and R 
is a multiple of 5. The age difference of 

Q and F is a perfect square.  

103. Who among the following is the 

youngest? 

A. G 

B. S 

C. R 

D. F 

E. None of these 
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104.Who is born before F? 

A. M 

B. G 

C. S 

D. Q 

E. None of these 

 

105.Who among the following is born 

in 1970? 

A. S 

B. F 

C. Q 

D. M 

E. None of these 

 

106.If T is 18 years older than G than 

what will be the age of T? 

A. 77 years 

B. 36 years 

C. 68 years 

D. 64 years 

E. None of these 

 

107.Who among the following is born 
between G and R? 

A. M 

B. Q 

C. S 

D. F 

E. None of these 

 

Direction: Study the information given 
below and answer the questions based 

on it. 

E H V B E G D B O L B A D C E B I E U 

B A I M N B P A O D B E Y I B O R T  

 

108. If all the consonants are dropped 

from the given series then how many 

alphabets will be there to the right of U 
in the newly formed series? 

A. Nine 

B. Ten 

C. Eight 

D. Seven 

E. None of these 

 

109.How many B’s are there in the 

above arrangement which is 
immediately followed by vowel? 

A. Less than six 

B. Seven 

C. More than eight 

D. Eight 

E. None of these 

 

110.If the first ten letters of the series 
gets interchanged with the last ten 

letters of the series then which of the 
following letter is exactly between the 

eighth letter from the left end and 
fourteenth letter from the right end? 

A. B 

B. E 

C. I 

D. Cannot be determined 

E. None of these 
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Here’s a big number: $44 trillion. 
That’s how much of the world’s total 

economic output is dependent on 
animals and ecosystems, according to 

the World Economic Forum.  

111. Which of the following can be 
inferred from the given information? 

A. Our bionetwork is just as important 
for our economic prospects as our 

scientific advancement. 

B. Now that we know the economic 
costs surrounding our environment, we 

need to do everything in our power to 
preserve its integrity. 

C. Our economy is vastly reliant on our 
ecosystem for its growth. 

D. The total economic output reliant on 

animals and ecosystems is quite large. 

 

Greenhouse gas emissions should be 
subject to legal controls in the US and 

phased out under the Toxic Substances 
Control Act, according to a group of 
scientists and former public officials, in 

a novel approach to the climate crisis.  

112. Which of the following can be 

inferred from the given information? 

A. It is quite possible that there has 
been an excess of greenhouse gases in 

the US casunig concern. 

B. Climate crisis is largely dependent 

on how well we tackle the global 
emission of greenhouse gases. 

C. Greenhouse gases has been a huge 

thorn in the flesh of Toxic substances 
Control Act. 

D. Greenhouse gas emissions 
subjected to legal controls can have 
various repercussions. 

 

 

 

Direction: A statement is given 
followed by two course of actions I and 

II. You are required to read the 
statement and figure out which course 

of actions can be drawn from the given 
statement 

 

113. Statement: 

Wildlife preservation has been a major 

headache for governments because 
despite strict measures, the smugglers 
have managed to capture animals 

whose bodies can be used to create 
expensive stuff. 

Course of action: 

I. The government should tighten the 
security across national parks even 

further. 

II. The smugglers should not be 

subjected to harsh treatment because 
they are doing it to run their families 

which is not wrong. 

A. Only I follows    
 B. Only II follows 

C. Both follow    
 D. Neither follow 

 

Direction: In each of the questions 
below is given a statement followed by 

two courses of action. You have to 
assume everything in the statement to 

be true, then decide which of the given 
suggested courses of action is/are 
logically worth pursuing.  

 

114. Statement: Increasing number 

of food carts, e-rickshaws , hawkers 
and repair shops, on the city’s 
pavements, is leading to jamming. 

People who live on the ground floor 
flats and building near markets are the 

worst affected as a result. 

 

Courses of Action: 
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I. Hawkers should be driven out from 
the pavements. 

II. All encroachments on the 
pavements should be immediately 

removed by the municipal corporation. 

III. Residents should plan to relocate to 
more peaceful surroundings where 

congestion doesn’t exist. 

A. Only I follows 

B. Only II follows. 

C. Only I and II follows. 

D. All follow. 

E. None of these 

 

115.While aspirin has been shown to 
eliminate mild fever associated with 
some disorders, its use is no longer 

regularly prescribed by many 
physicians for this reason. A mild fever 

increases the development of the white 
blood cells that combat the 

inflammation of the body and also 
prevents the growth of many disease-
causing bacteria strains. 

If the above statements are true, which 
of the following hypotheses is backed 

more strongly by them? 

A. Aspirin, which is an important pain 
relief, relieves the pain and nausea of 

many diseases. 

B. Aspirin may prolong the illness of a 

patient by removing mild fever, which 
may be helpful in combating those 
diseases. 

C. Aspirin prevents white blood cell 
development that is required to combat 

such diseases. 

D. The whiter blood cells the body of a 
patient creates, the less serious the 

condition of the patient would be. 

 

116.The number of patents issued by 
the United States Patent Office to 

inventors has fallen from 56000 in 
1971 to 45000 in 1978. R&D 

investment, which stood at 3% of the 
gross national product (GNP) in 1964, 

was just 2.2% of the GNP in 1978 . 
West Germany and Japan increased the 
amount of their GNP spent on research 

and development to 3.2 percent and 
1.6 percent, respectively, during this 

time, when the U.S. percentage was 
gradually declining. 

Which of the following conclusions is 

best supported by the information 
above? 

A. A strong relationship occurs between 
the size of the GNP of a country and the 
number of innovations it creates. 

B. In 1978, Japan and Germany spent 
more money on R&D than the United 

States did. 

C. The amount of money invested in 

research and development by a nation 
is closely proportional to the number of 
patented innovations in that region. 

D. The United States regularly spent a 
better proportion of its GNP on 

research and development between 
1964 and 1978 than Japan did. 

 

117.Economic factors color every 
aspect of international relations, and 

countries are just like people in that the 
lender sets the terms of its dealings 
with the borrower. That is why it is not 

possible for a nation that owes money 
to another nation to be a world leader. 

In the passage, the logic presumes 
which of the following? 

A. A country that does not lend to any 

other nation cannot be a leader of the 
world. 

B. It is certain that a nation that can 
set the terms of its dealings with other 
nations will be a world leader. 
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C. A nation that has the conditions for 
dealing with another action set by that 

nation can not be a leader of the world. 

D. As long as the other country does 
not determine the terms of the 

agreements between the two 
countries, a nation that is a world 

leader may borrow from another 
nation. 

 

Direction: Following is an array of 
questions to test your reasoning ability 

in different situations. Answer each of 
them according to the question asked 

in each of them respectively:  

118. If all the citizens try to opt for 
carpooling with friends, colleagues, 

family in their day-to-day activities, 
most of the traffic congestion on the 
roads would be reduced. Such a 

reduction in the number of cars would 
reduce greenhouse gas emissions and 

improve air quality. 

The conclusion drawn in the first 
sentence depends on which of the 
following assumptions? 

A. Many new social groups can be 
formed by starting a carpooling group. 

B. Vehicles other than cars do not 
create traffic congestion on the roads. 

C. Building bigger roads may reduce 

traffic congestion. 

D. Cars run more on the roads than 
other vehicles. 

 

119.Because of its toxic origin, 
scientists have determined that Radon 
- a colorless, odorless, and tasteless 

gas - is unstable and constantly decays 
into Progeny. As it has been proved 

that at the time of the creation of the 
planet there was no Progeny, one can 
correctly measure the age of the earth 

by calculating the rise in Progeny in the 
atmosphere of the earth during the last 

200 years and using it to calculate how 
many years it must have taken to 

achieve current Progeny levels. 

In deciding whether using the approach 
would help to accomplish the specified 

goal, the answer to which of the 
following questions would be most 

important? 

A. If, during daytime and night time, 
the rate of decay of Radon into Progeny 
is different? 

B. If Progeny is stable or is it at a 

constant rate when transformed into 
some other gas? 

C. In the last century, whether there 

have been any changes in the 
atmosphere that have raised the 

degree of radioactivity decay in all 
gases? 

D. Will the quantity of radon or progeny 
differ from region to region? 

 

120.Closed conditions in a vehicle lead 
to high humidity concentrations inside 
the car, gradually damaging the leather 

upholstery. Luxury car customers 
complain about such damage as they 

see it as an additional burden over and 
above the already huge sum they had 
to pay for the car. Luxuar, one such 

luxury car manufacturer, intends to use 
synthetic upholstery built on carbon 

fiber that delivers a comparable 
ergonomic experience to the existing 
leather upholstery and is substantially 

more resistant to moisture damage. 

When determining if switching to 
synthetic upholstery built on carbon 

fiber would substantially reduce the 
number of customer complaints, it 

would be more beneficial to determine 
which of the following? 

A. If synthetic upholstery offers a rich 
luxurious look that is considered 
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acceptable to luxury car customers for 
the money they spend on the vehicle. 

B. Whether the stain-resistance 
prowess of synthetic upholstery is at 

least as comparable to that of 
conventional leather upholstery to the 
abuse from liquid spills common in 

luxury cars. 

C. If any clients are not concerned 

about upholstery degradation 
associated with humidity. 

D. If the synthetic upholstery based on 

carbon-fiber withstands moisture for at 
least 3 times as long as the leather 

upholstery does. 

 

General Knowledge 
121.India's first ethanol plant has been 

inaugurated by CM Nitish Kumar in 
which district of Bihar? 

A. Bhagalpur 

B. Katihar 

C. Patna 

D. Purnia 

E. Sheohar 

 

122.Which team has won the title of 
Khelo India University Games 2021 

which was held in Karnataka? 

A. Lovely Professional University 

B. Jain University 

C. Punjab University 

D. MDU Rohtak 

E. Mangalore University 

 

123.What is the theme of the World 
Water Day 2022? 

A. Groundwater, Making the Invisible 

Visible 

B. Valuing Groundwater 

C. Conserving Ground Water 

D. Saving Drinking Water 

E. Water, Climate Change and 

Sustainable Development 

 

124."My Country, My Life" is the 
autobiography of: 

A. P V Narasimha Rao 

B. A .B .Vajpayee 

C. L K Advani 

D. Sharad Pawar 

E. Arun Jaitley 

 

125.T Raja Kumar belongs to which 
country who been elected as the new 

President of Financial Action Task Force 
(FATF)? 

A. Indonesia     

 B. Singapore 

C. Sri Lanka     

 D. India 

E. Nepal 

126.By which year will India launch its 
first orbiter mission to Venus? 

A. 2027 

B. 2025 

C. 2024 

D. 2028 

E. 2030 

 

127.Who has been appointed as the 
first-ever Chief Technology Officer 

(CTO) of the Central Intelligence 
Agency (CIA)? 

A. Nand Mulchandani 

B. Ron Palmeri 

C. DJ Patil 

D. Aishwarya Srinivasan 

E. Gaurav Sen 

128.Recently, Financial Stability Board 

is in news. This body is affiliated to- 
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A. UN 

B. G20 

C. World Bank 

D. IMF 

E. WTO 

 

129.Which city has been named as 

World Book Capital 2022 by UNESCO? 

A. Jalisco 

B. Zapopan 

C. Tijuana 

D. Guadalajara 

E. Cancún 

 

130.India’s first ‘geological park’ will be 
set up in which state? 

A. Karnataka 

B. Andhra Pradesh 

C. Madhya Pradesh 

D. Odisha 

E. Jharkhand 

 

131.With which organisation Indian Air 
Force has launched the Fleet Card - 

Fuel on Move? 

A. Bharat Petroleum 

B. Gail India 

C. Hindustan Petroleum 

D. Oil and Natural Gas Corporation 

E. Indian Oil Corporation 

 

132.What is the name of Indian 
Railway’s indigenously developed 
Automatic Train Protection (ATP), a 

train collision protection system? 

A. Rakshak  B. Dhaal 

C. Kavach  D. Shastra 

E. Suraksha 

133.Which airport has been awarded 

with the Covid champion award for 

successfully implementing project 
named 'Mission Safeguarding' during 

the pandemic time? 

A. Chennai International Airport 

B. Cocin International Airport 

C. Netaji Subhash Chandra Bose 
International Airport 

D. Sardar hVallabh Bhai Patel 
International Airport 

E. Indira Gandhi International Airport 

 

134.Which financial company has 

launched India’s first corporate bond 
exchange-traded fund (ETF), called the 

Bharat Bond ETF? 

A. Edelweiss Asset Management 
Company (AMC) 

B. Mahindra & Mahindra Financial 
Services Limited 

C. Muthoot Finance Ltd 

D. HDB Financial Services 

E. Tata Capital Financial Services 
Limited 

 

135.Recently, “Asani” cyclone hit the 
Odisha Coast. It is named by which 

country? 

A. Sri Lanka      

B. India 

C. Mauritius      

D. Maldives 

E. None of the above/more than one of 
the above 

 

136.BIMSTEC was formed in which 
year? 

A. 1994  B. 1997 

C. 2000  D. 2003 

E. 1977 
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137.How many members are there in 
the Monetary Policy Committee (MPC) 

from RBI? 

A. 2 

B. 3 

C. 4 

D. 5 

E. 6 

 

138.How many countries are members 
of the OECD? 

A. 24 

B. 26 

C. 32 

D. 33 

E. 38 

 

139.What will be the contribution 
amount under APY if 18-year-old 

wishes to get a Rs 5000 monthly 
pension post-retirement? 

A. Rs. 199 

B. Rs. 210 

C. Rs. 250 

D. Rs. 300 

E. Rs. 350 

 

140.Rs. 60,000 Crore has been 
allocated to ‘Har Ghar Jal’ in Union 

Budget 2022-23 to provide tap water to 
______. 

A. 2.4 Crore households    

B. 2.8 Crore households 

C. 3.4 Crore households    

D. 3.8 Crore households 

E. 4.2 Crore households 

 

 

 

141.National Coal Miners' Day is 
celebrated every year on ____. 

A. 3rd May 

B. 4th May 

C. 5th May 

D. 6th May 

E. 7th May 

 

142.The emergency Credit Line 

Scheme has been extended till March 
2023, and its guarantee cover has been 
expanded by _______. 

A. Rs 35,000 crore 

B. Rs 40,000 crore 

C. Rs 45,000 crore 

D. Rs 50,000 crore 

E. Rs 68,000 crore 

 

143.What is the full form of UNCED? 

A. United Nations Conference on 
Environment and Development 

B. United Nations Conference on 
Economic Development 

C. United Nations Committee on 

Environment and Development 

D. United Nations Conference on 

Economic Development 

E. None of the above 

 

144.Which country hosted World 
Environment Day 2022 in partnership 

with the UN Environment Programme 
(UNEP)? 

A. Iceland 

B. Ireland 

C. Sweden 

D. The Netherlands 

E. Denmark 
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145.Finance Minister Nirmala 
Sitharaman announced to set up 

“DESH-Stack e-portal”. What does ‘E’ 
stands for in DESH? 

A. Environment     

B. Ecosystem 

C. Economic      

D. Ecology 

E. None of the above 

 

146.Union Minister for Social Justice 
and Empowerment has launched the 

DACE scheme. What does ‘E’ stands for 
in DACE? 

A. Excellence 

B. Extraordinary 

C. Efficient 

D. Eligible 

E. None of the above 

 

147.The State of the World's Forests” 

(SOFO) presents data and analysis on 
the interaction between forests and 
people. This report is released by___. 

A. UNDP 

B. WWF 

C. FAO 

D. UNEP 

E. World Bank 

 

148.From which date the Reserve Bank 

of India (RBI) has increased the CRR by 
50 basis points to 4.5%? 

A. 1st May 2022 

B. 10th May 2022 

C. 15th May 2022 

D. 21st May 2022 

E. 1st June 2022 

 

149.The Federal Reserve of the USA 
was established in which year? 

A. 1912      

B. 1913 

C. 1914      

D. 1915 

E. 1920 

 

150.After World War II which 

conference launched the Flexible Rate 
exchange system? 

A. Tehran Conference 

B. Bretton Woods conference 

C. Cairo Conference 

D. British Commonwealth Prime 
Ministers' Conference 

E. First Washington Conference 

 

151.How much amount is allocated for 

PM-Kisan in Union Budget 2022? 

A. Rs 50,000 crore 

B. Rs 55,000 crore 

C. Rs 62,000 crore 

D. Rs 68,000 crore 

E. Rs 75,000 crore 

 

152.How many days the Azadi Se 
Antyodaya Tak campaign' has been 
organized in 75 Districts across 28 

States and UTs? 

A. 14-days  B. 21-days 

C. 30-days  D. 45-days 

E. 90-days 

 

153.GST Revenue collection 1st time 
crossed 1.5 Lakh crore in which month? 

A. December 2021 B. January 2022 

C. February 2022 D. March 2022 

E. April 2022 
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154.Who is the second-largest life 
insurance provider? 

A. HDFC Life Insurance 

B. ICICI bank Prudential Corporation 

Holdings Limited 

C. SBI Life Insurance 

D. SBI Life Insurance 

E. SBI Life Insurance Life Insurance 

 

155.According to the State of the 
World's Forests 2022, what per cent of 
the total land is covered under forest? 

A. 21% 

B. 23% 

C. 28% 

D. 31% 

E. 35% 

 

156.India’s rank in fish global 

production? 

A. First 

B. Second 

C. Third 

D. Fourth 

E. Fifth 

 

157.How much additional fertilizer 
subsidy for potash was given? 

A. Rs. 21000 crores 

B. Rs. 31000 crores 

C. Rs. 41000 crores 

D. Rs. 51000 crores 

E. Rs. 61000 crores 

 

158.GoI has given permission for the 
production and supply of the National 

flag to ____ Khadi Gramodyoga 
Samyukta Sangha. 

A. Gujarat 

B. Madhya Pradesh 

C. Uttar Pradesh 

D. Karnataka 

E. Bihar 

 

159.The Reserve Bank of India and 
which central bank partnered to 
implement UPI transactions between 

those two? 

A. Monetary Authority of Singapore 

(MAS) 

B. Bank Indonesia 

C. Bank Negara Malaysia 

D. Bangko Sentral ng Pilipinas 

E. Central Bank of Sri Lanka 

 

160.India has achieved a 'service 
export target' of ______for the 

financial year 2021-22. 

A. USD 250 billion     

B. USD 275 billion 

C. USD 300 billion     

D. USD 350 billion 

E. USD 375 billion 

 

161.In Which city is the Louvre 
Museum located? 

A. Paris 

B. New York 

C. Moscow 

D. Tokyo 

E. Los Angeles 

 

162.How much fund has been allocated 
for PM SVANidhi Scheme in Union 

Budget 2022-23? 

A. Rs 450 crore 

B. Rs 350 crore 

C. Rs 250 crore 

D. Rs 150 crore 

E. Rs 100 crore 
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163.At Present how many debt 
recovery tribunals are in operation? 

A. 45 

B. 40 

C. 39 

D. 38 

E. 35 

 

164.The Employee Provident Fund 

Organization has slashed the PF 
interest rate by _____. 

A. 0.2 percent 

B. 0.3 percent 

C. 0.4 percent 

D. 0.5 percent 

E. 0.6 percent 

 

165.India has signed a pact with 
Germany for Green Hydrogen, what 

target year of the pact? 

A. 2025  B. 2027 

C. 2028  D. 2030 

E. 2032 

 

166.National Forensic Science 
University comes under which 

ministry? 

A. Ministry of Home Affairs 

B. Ministry of Finance 

C. Ministry of External Affairs 

D. Ministry of Law and Justice 

E. Ministry of Education 

 

167.Non-profit companies were 

established under which act? 

A. Section 5 of company law 

B. Section 6 of company law 

C. Section 7 of company law 

D. Section 8 of company law 

E. Section 9 of company law 

168.The NEP 2020 intends to boost the 
spending on education by enhancing 

the education budget to a level of 
______. 

A. 2% 

B. 4% 

C. 5% 

D. 6% 

E. 7% 

 

169.Open, the 100th Indian unicorn is 
related to which sector? 

A. Education technology 

B. Neobanking 

C. Insurance 

D. Aviation 

E. Farm Tech 

 

170.How many member states/UT will 

Organisation Jharokha program? 

A. 10 states and UTs 

B. 12 states and UTs 

C. 13 states and UTs 

D. 16 states and UTs 

E. 20 states and UTs 

 

171.Which bank set to launch set the 
SmartHub Vyapar program for 
merchants that will handle all payment 

platforms like cards, UPI, SMS-based 
payments, QR Code and tap pay? 

A. Axis Bank 

B. Yes Bank 

C. HDFC Bank 

D. ICICI Bank 

E. IndusInd Bank 
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172.Who has partnered with TCS to 
Reimagine the Customer Onboarding 

Experience? 

A. SBI Card 

B. ICICI Bank 

C. HDFC Bank 

D. IndusInd Bank 

E. Axis Bank 

 

173.For serving in which country more 
than 1000 peacekeeping Indian Army 
personnel were awarded by the United 

Nations? 

A. Afghanistan 

B. Syria 

C. Yemen 

D. South Sudan 

E. Myanmar 

 

174.Which one is not among the top 
five sectors under the National 

Monetization Pipelines? 

A. Roads      

B. Railways 

C. Power      

D. Oil & Gas pipelines 

E. Banking 

 

175.Of what amount the Reserve bank 

of India (RBI) has imposed the 
monetary penalty on Axis Bank and 

IDBI Bank respectively for various 
violations of regulatory compliance? 

A. Rs 93 lakh and Rs 93 lakh   

B. Rs 90 lakh and Rs 90 lakh 

C. Rs 93 lakh and Rs 90 lakh   

D. Rs 90 lakh and Rs 90 lakh 

E. Rs 93 lakh and Rs 91 lakh 

 

176.ASEEM Portal is related to which 
sector? 

A. To help skilled people find 
sustainable livelihood opportunities 

B. To Provide shelter to the women 
affected by violence 

C. To provide Job opportunities to 

unskilled labourers of the country 

D. To help provide financial assistance 

to tribal community women to set up 
their own business 

E. None of the above 

 

177.What were India’s Merchandise 

exports in the financial year 2022? 

A. $ 388 billion 

B. $ 418 billion 

C. $ 460 billion 

D. $ 445 billion 

E. $ 458 billion 

 

178.Name the former NITI Aayog 
official who joined Google recently? 

A. Archana Gulati 

B. Soma Mondal 

C. Arundhati Bhattacharya 

D. Ruchika Kamboj 

E. Ranjana Prakash Desai 

 

179.Recently Delimitation Commission 
has changed the constituency of which 

of the state/UTs? 

A. Himachal Pradesh 

B. Delhi 

C. Puducherry 

D. Jammu and Kashmir 

E. Goa 
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180.H2e Power Systems, a Pune-based 
fuel cell, and electrolyzer start-up, has 

commissioned the country’s first 
commercial-grade green hydrogen 

production plant for which oil company 
at Jorhat, Assam? 

A. Indian Oil Corporation    

B. Hindustan Petroleum 

C. ONGC      

D. Oil India Limited 

E. Bharat Petroleum 

 

181.Which of the following oil 
marketing companies has launched 

M15 Blended methanol? 

A. Indian Oil Corporation 

B. Hindustan Petroleum 

C. ONGC 

D. Oil India Limited 

E. Bharat Petroleum 

 

182.Which of the following states has 
won the Santosh Trophy 2022? 

A. West Bengal     

B. Assam 

C. Kerala      

D. Maharashtra 

E. Haryana 

 

183.Which of the following sectors 
generate the second-largest 

employment in the country? 

A. Railway      

B. Textiles 

C. Services      

D. Agriculture 

E. Foot loose Industry 

 

184.Which of the following is correct 
with regard to the ownership structure 

in the Regional Rural Banks (RRBs)? 

A. Sponsor Banks 35%; State 

Government 35%; Central 
Government 30%. 

B. Sponsor Banks 25%; State 

Government 25%; Central 
Government 50%. 

C. Sponsor Banks 50%; State 
Government 35%; Central 
Government 15%. 

D. Sponsor Banks 35%; State 
Government 15%; Central 

Government 50%. 

E. Sponsor Banks 30%; State 
Government 30%; Central 

Government 40%. 

 

185.Which of the following statements 
is correct regarding PM Savnidhi 

Scheme? 

1. The GoI has approved the 
continuation of lending under the Prime 

Minister Street Vendor’s AtmaNirbhar 
Nidhi (PM SVANidhi) beyond March 

2022 till December 2025. 

2. The approval is expected to benefit 
nearly 1.2 crore citizens of Urban India. 

3. The proposed extension of the 
Scheme has been necessitated as the 

circumstances that led to the launch of 
the Scheme in June 2020 i.e. the 
pandemic and related stress on the 

small businesses, have not fully 
retracted. 

A. only 1 and 2     

B. only 1 and 3 

C. only 2 and 3     

D. only 2 

E. only 1 
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186.Singareni Coal Mines is situated in 
which of the following states? 

A. Andhra Pradesh 

B. Uttar Pradesh 

C. Telangana 

D. Jharkhand 

E. West Bengal 

 

187.The Sagarmaala Programme is to 

promote port-led development in the 
country through harnessing India’s 
_______of potentially navigable 

waterways? 

A. 11,500 km 

B. 12,500 km 

C. 13,500 km 

D. 14,500 km 

E. 15,500 km 

 

188.Within one year of incorporation a 
Nidhi company should have a minimum 

of 200 members and what should be 
the Net Owned Fund of a Nidhi 
Company? 

A. Rs 5 Lakh 

B. Rs 7 Lakh 

C. Rs 10 Lakh 

D. Rs 12 Lakh 

E. Rs 15 Lakh 

 

189.In which of the following month of 

2020, the RBI Monetary Policy 
Committee has unexpectedly cut the 
Repo Rate by 40 basis points to 4 

percent? 

A. April 

B. May 

C. June 

D. July 

E. August 

190.In Pro Kabaddi League 2021-22 
Dabang Delhi defeated which team in 

the final to win their first PKL title? 

A. Patna Pirates     

B. Bengaluru Bulls 

C. U Mumba      

D. Bengal Warriors 

E. Haryana Steelers 

 

191.Recently, India has become the 
second country to adopt the T+1 
settlement system. Which of the 

following is the first country to adopt 
the T+1 settlement system? 

A. Japan 

B. Israel 

C. China 

D. Australia 

E. France 

 

192.Federal Bank was established in 

which of the following years? 

A. 1905 

B. 1915 

C. 1921 

D. 1931 

E. 1936 

 

193.Which of the following is a part of 

the Memorandum of Company Act? 

1) Location of the company 

2) Objective of the company 

3) Liability of the members of the 
company, it can be limited or unlimited 

4) Name of the company 

A. 1, 2 and 3 only 

B. 1, 2 and 4 only 

C. 2, 3 and 4 only 

D. 2 and 3 only 

E. All 1, 2, 3 and 4 

http://www.byjusexamprep.com/
https://byjusexamprep.com/bank-regulatory-exams-online-coaching


www.byjusexamprep.com 
 

 

 
44 

 

194.As per the National Family Health 
Survey 5 (NFHS-5), what is the female 

sex ratio in Urban and Rural parts of 
India respectively? 

A. 934 and 1020 B. 945 and 1027 

C. 975 and 1030 D. 985 and 1037 

E. 995 and 1045 

 

195.Which of the following statements 

is correct regarding the bond price and 
interest rate? 

1) Bond price increases with a decrease 

in interest rate 

2) Bond price increases with the 

market rate 

3) Bond price and yield are directly 
proportional to each other 

A. 1 only  B. 2 only 

C. 1 and 2 only D. 2 and 3 only 

E. 1 and 3 only 

 

196.Consider the following statements 
about the insolvency and Bankruptcy 
Code 2016: 

1. The adjudicating authority of the IBC 
code is RBI. 

2. IBC code is applicable only to public 
sector banks. 

3. IBC code gives power to the RBI to 

begin insolvency proceedings against 
defaulters. 

Which of the given statement(s) is/are 
correct? 

A. 1 and 2 only B. 1 and 3 only 

C. 2 and 3  D. 3 only 

E. All 1, 2 and 3 

 

197.Which of the following sector is not 
covered under capital expenditure of 

the government? 

 

A. Airport  B. Railways 

C. Power  D. Roads 

E. Dams 

 

198.Which of the following statements 
is/are true about PM Jan Dhan Yojana? 

1. Existing overdraft (OD) limit of Rs. 

5000 was increased to Rs. 10,000. 

2. Age limit for availing OD facility to 

be raised from 18-60 years to 18-65 
years. 

3. There will not be any conditions 

attached for OD upto Rs 2000. 

A. 1 and 2 only B. 1 and 3 only 

C. 2 and 3  D. 3 only 

E. All 1, 2 and 3 

 

199. Which of the following schemes 
and their launching year are correctly 

matched? 

1. One Nation Card – 2018 

2. Pradhan Mantri Jan Dhan Yajana - 
2014 

3. Ujjwala Yojana - 2016 

4. Digital India - 2015 

A. 1, 2 and 3 only B. 2, 3 and 4 only 

C. 1, 2 and 4 only D. 1, 3 and 4 only 

E. All 1, 2, 3 and 4 

 

200.Which of the following statements 
is correct regarding DICGC? 

A. It provides funds upto Rs 1 lakh to 
an account holder within 45 days 

B. It provides funds upto Rs 2 lakh to 

an account holder within 50 days 

C. It provides funds upto Rs 3 lakh to 

an account holder within 60 days 

D. It provides funds upto Rs 5 lakh to 
an account holder within 90 days 

E. None of the above 
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